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[ > rmultinom(n=1,size=1,prob=c(1/6,1/6,1/6,1/6,1/6,1/6)) )

Ul1oooboooogbbobobooboogoobooooooooooob0 1oboooboboobooboo

( > rmultinom(n=1,size=10,prob=c(1/6,1/6,1/6,1/6,1/6,1/6)) )
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[ > rmultinom(n=10, size=5,prob=c(1/6,1/6,1/6,1/6,1/6,1/6)) ]
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(i > rpois (n=60, lambda=3) j}
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X <- rpois (n=60, lambda=3)

X.sum.6 <- c(0)
for (1 in c(1:10) ) {
tmp <- 0
for ( j in c(l:6) ) {
tmp <- tmp + X[6%(1-1)+(Jj-1)+1]
}
X.sum.6 <- append (X.sum.6,tmp)

}
X.sum.6 <— X.sum.6[2:11]
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apply (matrix (rpois (n=60, lambda=3),ncol=6), 1, "sum")
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(: > apply (matrix (rpois (n=60, lambda=3) ,ncol=6), 1, "sum") :)
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(j > x <- gnorm(runif (1000,0,1),50,10) j}
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(: > x <— rnorm(1000,50,10) :)
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oOooo runif (n= , min= , max= )

gooo rnorm(n= , mean= , sd= )

tdad rt (n= , df=)

ooooo rgamma (n= , shape= , scale= )

Xz oo rchisg(n= , df= , ncp= )

ooooo rbeta (n= , shapel= , shape2= )
FOO rf(n= , dfl= , df2=)

oooo rexp (n= , rate= )

Ooo0ooooo rlogis(n= , location= , scale= )
oooooo rlnorm(n= , meanlog= , sdlog= )
gOooooao rweibull (n= , shape= , scale= )
o0oOoboon rcauchy (n= , location= , scale= )
ogood rbinom(n= , size= , prob= )
oood rgeom (n= , prob= )

ooooon rnbinom(n= , size= , prob= ) orrnbinom(n= , size= , mu= )
oooooo rpois (n= , lambda= )

goooa rhyper (nn= , m= , n= , k=)
oood rmultinom(n= , size= , prob= )

4 ROODOOOODOOOOO

ROODOOOOO Mersenne-Twister 00 0000000000000 0O0O0OO0OO0O 2¥7-10000623
0000000000000 OooOooOooOooOooo

http://www.math.sci.hiroshima-u.ac.jp/ m—mat/MT/mt.html

obooooaoo

RNGkind () ;
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RNGkind (kind="0O0O000000OOOOOOM);
# D00D0OO0oO0OoOoOoooooo

U0 Wichmann-Hill, Marsaglia-Multicarry, Super-Duper, Knuth-TAOCP, Knuth-TAOCP-2002
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[ > runif (n=1,min=0,max=1) ]
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[ > runif (n=1000, min=0, max=1) ]
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mean (0 OO0OOO);
# 000000000
sd(0D0OoOoono);
# 000000000
summary (0O OO0OO);
# 000000000000 O0OOO0O0OoooOooon
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> u <— runif (1000,0,1) # n=0 min=0 max=000003

> mean (u) # 000000000 OO

> sd(u) # 00000000000

> summary (u) # 0D0O00OODODOO0O0ObOO0O00bOooobDbboooooo
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> u <- runif(1,0,1)

> gnorm(u, 50,10)
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> u <- runif (1000,0,1)

> x <- gnorm(u,50,10)
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> mean (x)
> sd(x)

> summary (x)
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(: > hist (x) j)
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hist(@O0O);
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> x <— rnorm(10,50,10)

> mean (xX)
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> x <- mean (rnorm(10,50,10))
> for (i in c(2:1000) ) {
+ x <- append(x, mean (rnorm(10,50,10)))
+ 3
> hist (x)
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> X.10 <- matrix (rnorm(10000,50,10),ncol=10)
> x.10 <= apply (X.10,1,mean)
> hist (x.10)

U0bD00D0Oapply(X,1,mean) 0000000000 XOOOOUOUO mean() OOOO0OO0OO0OOOOOO
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apply (00000000, 0000,00);
# 0000000000000

OO0 a=1000n=10000xn=10000000000000000000000000O 1000000000000
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.100 <- matrix (rnorm(100000,50,10),ncol=100)
.1000 <- matrix(rnorm(1000000,50,10),ncol=1000)
.10000 <= matrix (rnorm(10000000,50,10),ncol=10000)
.100 <= apply(X.100,1,mean)

.1000 <- apply(X.1000,1,mean)

.10000 <- apply(X.10000,1,mean)
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> par (mfrow=c(2,2))
> hist (x.10)
> hist (x.100)
> hist (x.1000)
> hist (x.10000)
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Vs
> par (mfrow=c(2,2))
> hist (sqrt (10) % (x.10-50))
> hist (sqrt (100)x(x.100-50))
> hist (sgrt (1000)*(x.1000-50))
L > hist (sqrt (10000) * (x.10000-50))
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